Ch\ N3ydenue nponeHTHOrO YBEJIMYEHUS U YMEHBIICHUS Nwms:
Pemure kaxayr 3axauy. OTBeTHI

1) {GVAR} panblie xuia B 10 KuioMeTpax OT IKOJIbI, HO TIOCIIE TIEpee3ia OHa TENePh

JKUBET B 7 KHJioMeTpax oT mkosibl. OHa Ha HPOLICHTOB OJIMXKE K ILIKOJIE. L.
2.
2) {BVAR! spent 29 minutes on his math homework and 32,48 minutes on his spelling
homework. He spent percent more time on his spelling homework. 3.
4.
3) B npouuiom roay JMIEH3Us Ha PHIOHYIO JOBIIO cTouna 57. B atoMm roay aunensus Oyaer
crouth 41,04 nomnapoB. DTO yMEHBIIICHUE Ha MPOLIEHTOB. 5.
6.
4) A store sold 15 dollars worth of gift cards in October. The next month the goal was to sell
§ 18 worth of gift cards. This is an increase of percent. 7.
8.
S) The price for internet on a phone was §8 a month, but starting in November the price will
be §9,92 a month. This is a % increase. 9.
10.

6) Marasun 06b1YHO HaOupan B cpeaneM 108 mokymnareneii B qeHb. Ho 10 BBIXOIHEIM OHH B
cpenneM Habupanu 75,6 KIMEHTOB B JIeHb. Ha CKOJIbKO MPOIICHTOB YMEHBIIIUIIOCH
KOJIMYECTBO KIIMEHTOB?

7) A small fruit smoothie is 30 ounces while a large fruit smoothie is 34,2 ounces. The large
fruit smoothie is % larger.

8) Becnoii cpennuii Gamn mo nucTy AeneHus obu1 76. Ho elne ocenpro cpeanuii 6asmn Obu
HOMB. Onenka 3a oceHb Oblia Ha % HUXKe, 4YeM 3a BECHY.

9) Normally a game costs §35. But the new special edition version is going to be §40,6. This
is an increase of percent.

10) Normally a chef uses 12 ounces of chocolate to make chocolate chip cookies. But he
started using 13,44 ounces instead. He should advertise the cookies as having
percent more chocolate.
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ﬂh I/I3yquI/Ie IMPOLCHTHOT'O YBCIIMYCHNA 1 YMCHBIICHU Nwms: Ka04 K NIpaBUIbHBIM O0TBETAM

Pemure kaxayr 3axauy. OTBeTHI
1) {GVAR} panblie xuia B 10 KuioMeTpax OT IKOJIbI, HO TIOCIIE TIEpee3ia OHa TENePh
JKUBET B 7 KMJIOMETpax OT mKkojbl. OHa Ha HPOLICHTOB OJIMXKE K ILIKOJIE. L. 30
2. 12
2) {BVAR! spent 29 minutes on his math homework and 32,48 minutes on his spelling
homework. He spent percent more time on his spelling homework. 3. 28
4. 20
3) B npouuiom rofy JMIEH3Hs Ha PHIOHYIO JIOBIIIO cToMIa 57. B aTOM rony nuuensus Oyaer
ctouth 41,04 nonnapoB. 3To yMEeHbIIEHHE Ha IIPOLICHTOB. 5. 24
6. 30
4) A store sold 15 dollars worth of gift cards in October. The next month the goal was to sell
§18 worth of gift cards. This is an increase of percent. 7. 14
8. 42
S) The price for internet on a phone was §8 a month, but starting in November the price will
be §9,92 a month. This is a % increase. 9. 16
10, 12

6) Marasun 06b1YHO HaOupan B cpeaneM 108 mokymnareneii B qeHb. Ho 10 BBIXOIHEIM OHH B
cpenneM Habupanu 75,6 KIMEHTOB B JIeHb. Ha CKOJIbKO MPOIICHTOB YMEHBIIIUIIOCH
KOJIMYECTBO KIIMEHTOB?

7) A small fruit smoothie is 30 ounces while a large fruit smoothie is 34,2 ounces. The large
fruit smoothie is % larger.

8) Becnoii cpennuii Gamn mo nucTy AeneHus obu1 76. Ho elne ocenpro cpeanuii 6asmn Obu
HOMB. Onenka 3a oceHb Oblia Ha % HUXKe, 4YeM 3a BECHY.

9) Normally a game costs §35. But the new special edition version is going to be §40,6. This
is an increase of percent.

10) Normally a chef uses 12 ounces of chocolate to make chocolate chip cookies. But he
started using 13,44 ounces instead. He should advertise the cookies as having
percent more chocolate.

M 6 1-10 [90[80[70[60[50[40[30[20]10] 0 |
ATCMaTHKA www.CommonCoreSheets.ru




Ch\ N3ydenue nponeHTHOrO YBEJIMYEHUS U YMEHBIICHUS Nwms:
Pemure kaxayr 3axauy. OTBeTHI

30 12 24 42 30
12 14 28 16 20 1.

1) {GVAR} panbuie xua B 10 KAIOMETpax OT MIKOJIBI, HO MOCJIE TIEPEE3/]a OHA TENEPD

2.
KHUBET B 7 KWJIOMETpax oT mKojibl. OHa Ha NPOIICHTOB OJIMXKE K IIKOJIE.
3.
2) {BVAR} spent 29 minutes on his math homework and 32,48 minutes on his spelling
homework. He spent percent more time on his spelling homework. 4.
5.
3) B npouuiom roay JMIEH3Us Ha PHIOHYIO JOBIIO cTouna 57. B atoMm roay aunensus Oyaer
ctouth 41,04 nomnapoB. DTO yMEHBIIICHUE Ha MIPOLIEHTOB. 6.
7.
4) A store sold 15 dollars worth of gift cards in October. The next month the goal was to sell
§18 worth of gift cards. This is an increase of percent. 8.
9.
5) The price for internet on a phone was §8 a month, but starting in November the price will
be §9,92 a month. This is a % increase. 0

6) Marasun 06b1YHO HaOupan B cpeaneM 108 mokymareneii B qeHb. Ho 10 BBIXOIHEIM OHH B
cpenHeM HaOupanu 75,6 KIMEHTOB B JIeHb. Ha CKOJIbKO MPOIICHTOB YMEHBIIIHUIIOCH
KOJHNYECTBO KIUEHTOB?

7) A small fruit smoothie is 30 ounces while a large fruit smoothie is 34,2 ounces. The large
fruit smoothie is % larger.

8) Becnoii cpennuii Gamn mo nucTy Aenenus obu1 76. Ho ele ocenpro cpeanuii 6asn Obu
HOMB. Onenka 3a oceHb Obla Ha % HUXKeE, 4YeM 3a BECHY.

9) Normally a game costs §35. But the new special edition version is going to be §40,6. This
is an increase of percent.

10) Normally a chef uses 12 ounces of chocolate to make chocolate chip cookies. But he
started using 13,44 ounces instead. He should advertise the cookies as having
percent more chocolate.
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